ADDING AND SUBTRACTING UP TO MILLION WITHOUT CARRYING (HN—aﬁ];élf 3)

TEST 2

Time: Score:

0 543829 — 43126 =

2 477257 — 141042 =

3 553089 — 420384 =

9252461 + 605425 =

5 304799 — 104504 =

6 480706 + 400260 =

N 745545 4 2302 =

9 949963 — 613120 =

9 637118 + 120530 =

100 301536 + 74000 =

1) 5662871 — 212641 =

12) 3710446 + 6170110 =

1) 701779 — 600068 =

1) 373604 + 21182 =

15 888187 — 358034 =

Mathematics: Mixed - Level 7 - Horizontal - Set 3
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680094 + 316604 =

445708 — 111101 =

792654 — 90612 =

238711 + 221018 =

391453 + 605205 =

778278 — 453061 =

283817 — 130807 =

1814589 — 1104042 =

2252858 4+ 1107011 =

452909 — 211600 =

803831 + 186010 =

2306245 + 341632 =

392895 — 231071 =

324445 + 4501 =

377179 — 362058 =
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